

$$\int \sec x dx = \int \frac{1}{\cos x} dx = \int \frac{1}{\cos x} \cdot \frac{\cos x + \tan x}{\cos x + \tan x} dx$$

$$\sec x + \tan x = \frac{1}{\cos x} + \frac{\sin x}{\cos x} = \frac{\cos x + \sin x \cos x}{\cos^2 x}$$

$$\frac{\cos x + \cos x \sin x}{\cos^2 x} = \frac{\cos x(1 + \sin x)}{(1 - \sin x)(1 + \sin x)}$$

$$= \frac{\cos x}{1 - \sin x}$$

$$\int \frac{1}{\cos x} dx = \int \frac{1}{1 - \sin x} dx + \int \ln(1 + \sin x) dx$$

$$\int \frac{1 + \sin x}{1 - \sin x} dx = \int \frac{1 + \sin x}{1 - \sin x} \cdot \frac{1 + \sin x}{1 + \sin x} dx = \int \frac{(1 + \sin x)^2}{1 - \sin^2 x} dx = \int \frac{1 + 2\sin x + \sin^2 x}{\cos^2 x} dx$$

$$\frac{1}{1-u} + \frac{1}{1+u} = \frac{1+u+1-u}{1-u^2} = \frac{2}{1-u^2}$$

$$\frac{1}{1-u^2} = \frac{1}{(1-u)(1+u)} = \frac{1}{2} \left(\frac{1}{1-u} + \frac{1}{1+u} \right)$$

$$\int \frac{1}{1-u^2} du = \frac{1}{2} \left(\int \frac{1}{1-u} du + \int \frac{1}{1+u} du \right)$$

$$= \frac{1}{2} \left(-\ln|1-u| + \ln|1+u| \right) = \frac{1}{2} \ln \left| \frac{1+u}{1-u} \right|$$

$$= \frac{1}{2} \ln \left| \frac{1 + \sin x}{1 - \sin x} \right| + C$$

$$\int \frac{1}{\cos x} dx = \frac{1}{2} \ln \left| \frac{1 + \sin x}{1 - \sin x} \right| + C$$

$$\int \frac{1}{\cos x} dx = \frac{1}{2} \ln \left| \frac{1 + \sin x}{1 - \sin x} \right| + C$$

النتيجة

$\left(\frac{x^2 + a^2}{a^2 - x^2} \right)^{1/2}$

$\frac{\sqrt{a^2 - x^2}}{a^2 - x^2}$

$x = a \sin \theta$
 $dx = a \cos \theta$

$\sqrt{a^2 - x^2} = \sqrt{a^2 - a^2 \sin^2 \theta} = a \cos \theta$

$\frac{\sqrt{x^2 + a^2}}{\sqrt{x^2 - a^2}}$

$\int \tan^2 x dx = \int (\sec^2 x - 1) dx = \int \sec^2 x dx - \int 1 dx = \tan x - x + C$

$\sec^2 x = \frac{1}{\cos^2 x}$
 $\frac{d}{dx} \left(\frac{1}{\cos x} \right) = \frac{+\sin x}{\cos^2 x} = \sec x \tan x$

$\int \sec^3 x dx = \int \frac{1}{\cos^3 x} dx$
 $\int \frac{1}{\cos x} \cdot \frac{1}{\cos^2 x} dx = \int \sec x \tan x dx$

$\int \sec x dx = \int \frac{1}{\cos x} dx = \ln |\sec x + \tan x| + C$
 $\int \sec^3 x dx = \frac{1}{2} \ln \left| \frac{\sec x + \tan x}{\sec x - \tan x} \right| + \frac{1}{2} \sec x \tan x + C$

$$= \theta = \sin^{-1}\left(\frac{x}{2}\right)$$

$dx = 2 \cos \theta$

$x = 2 \sin \theta$
 $dx = 2 \cos \theta d\theta$ (محل تعریف)

$$\frac{2 \cos \theta d\theta}{\sqrt{4 - 4 \sin^2 \theta}} = \int d\theta$$

$$\int \frac{1}{\sqrt{4 - x^2}} dx = \int \frac{1}{\sqrt{1 - \left(\frac{x}{2}\right)^2}} dx = \sin^{-1}\left(\frac{x}{2}\right)$$

محل تعریف

$$\cos^2 \theta = \frac{1 + \cos 2\theta}{2}$$

$$\sin^2 \theta = \frac{1 - \cos 2\theta}{2}$$

$-\frac{\pi}{2} \leq \theta \leq \frac{\pi}{2} \Rightarrow$
 $-1 \leq \sin \theta \leq 1$

$$\int \frac{1}{2} d\theta + \int \frac{1}{2} \cos 2\theta d\theta$$

$$= \frac{1}{2} \theta + \frac{\sin 2\theta}{4} =$$

یا $\frac{1}{2} \sin^{-1}\left(\frac{x}{2}\right) + \frac{\sin(2 \sin^{-1}\left(\frac{x}{2}\right))}{4}$

$$\int \sqrt{1 - \sin^2 \theta} \cos \theta d\theta = \int \cos^2 \theta d\theta$$

$$= \int \frac{(1 + \cos 2\theta)}{2} d\theta =$$



$$\int \frac{1}{\cot x} dx = \int \frac{1}{\frac{\cos x}{\sin x}} dx = \int \frac{\sin x}{\cos x} dx = \int -\frac{1}{\cos x} d(\cos x) = -\ln|\cos x| + C$$

$$\int \frac{1}{\cot^2 x} dx = \int \frac{1}{\frac{\cos^2 x}{\sin^2 x}} dx = \int \frac{\sin^2 x}{\cos^2 x} dx = \int \frac{1 - \cos^2 x}{\cos^2 x} dx = \int \frac{1}{\cos^2 x} dx - \int \frac{\cos^2 x}{\cos^2 x} dx = \int \sec^2 x dx - \int 1 dx = \tan x - x + C$$

$$\int \frac{1}{\cot^3 x} dx = \int \frac{\sin^3 x}{\cos^3 x} dx = \int \frac{\sin x (1 - \cos^2 x)}{\cos^3 x} dx = \int \frac{\sin x}{\cos^3 x} dx - \int \frac{\sin x \cos^2 x}{\cos^3 x} dx = \int \frac{\sin x}{\cos^3 x} dx - \int \frac{\sin x}{\cos x} dx$$

$$\int \frac{\sqrt{9-x^2}}{x^2} dx$$

$x = 3 \sin \theta$

$$\int \frac{3 \cos \theta \cdot 3 \cos \theta d\theta}{9 \sin^2 \theta} = \int \frac{9 \cos^2 \theta}{9 \sin^2 \theta} d\theta = \int \cot^2 \theta d\theta = \int (\csc^2 \theta - 1) d\theta = -\cot \theta - \theta + C$$

روش تبدیل

$$\int \frac{x \sqrt{9-x^2}}{x^2} dx = \int \frac{\sqrt{9-x^2}}{x} dx$$

$u = 9-x^2$
 $du = -2x dx$

$$\int \frac{\sqrt{9-x^2}}{x} dx$$

$u = 9-x^2$
 $du = -2x dx$

$$\int \frac{1}{\tan^2 x} dx = ?$$

$$\int \frac{\sec^2 \theta}{\tan^2 \theta} d\theta \rightarrow \int \sec \theta d\theta$$

$$= \int \frac{1}{\sec \theta + \tan \theta} = \int \frac{1}{\sec \theta + \tan \theta} + \frac{1}{\sec \theta - \tan \theta} - \frac{1}{\sec \theta - \tan \theta}$$

$$u = \tan \theta$$

$$du = (\sec^2 \theta) d\theta$$

$$= \sec^2 \theta d\theta$$

$$\int \sqrt{x^2 - 1} dx$$

$$\int \frac{1}{\sqrt{x^2 + a^2}}$$

$$\text{Dom} = \mathbb{R}$$

$$x = a \tan \theta$$

$$\frac{\sec \theta \tan \theta}{\sec \theta \tan \theta} = d\theta$$

$$d\theta = \frac{1}{\sec \theta} = \cos \theta$$

$$x = \frac{1}{\cos \theta} = \sec \theta$$

$$\theta = \arccos \frac{1}{x}$$

$$\int \frac{1}{x \sqrt{x^2 - 1}} dx = ?$$

$$x = \frac{1}{\cos \theta} = \sec \theta$$

$$dx = \sec \theta \tan \theta d\theta$$

$$\sqrt{x^2 - 1} = \sqrt{\sec^2 \theta - 1} = \tan \theta$$

$$\int \frac{1}{\sqrt{x^2 - a^2}}$$

$$x^2 \geq a^2$$

$$x \in (-\infty, -a] \cup [a, \infty)$$

$$\cos \theta \leq 1 \Rightarrow \frac{1}{\cos \theta} \geq 1$$

$$\int \frac{1}{\sqrt{x^2 - a^2}}$$

$$x \in (-\infty, -a] \cup [a, \infty)$$

$$x \leq -a$$

$$x \geq a$$

$$x = \frac{a}{\cos \theta} = a \sec \theta$$

$$\int \frac{x^3}{(4x^2+9)^{3/2}} dx$$

$$u = x^2 + 4$$

$$\frac{du}{2u^{3/2}}$$

$$\frac{1}{4} \int \frac{du}{u^{3/2}} = \frac{1}{4} \int \frac{1}{u^{3/2}} du$$

$$= \frac{1}{4} \int \frac{1}{\sin^3 \theta} d\theta$$

$$= \frac{1}{4} \int \frac{\sec \theta}{\tan^2 \theta} d\theta = \frac{1}{4} \int \frac{1}{\cos \theta \frac{\sin^2 \theta}{\cos^2 \theta}} d\theta = \frac{1}{4} \int \frac{\cos \theta}{\sin^2 \theta} d\theta$$

$$x = 2 \tan \theta$$

$$dx = 2 \sec^2 \theta d\theta$$

$$\frac{2 \sec^2 \theta d\theta}{4 \tan^2 \theta \times 2 \sec \theta} = \frac{\sec \theta}{4 \tan^2 \theta}$$

$$\sqrt{4 \tan^2 \theta} = 2 \sec \theta$$

$$x = 2 \tan \theta$$

$$\frac{1}{x \sqrt{x^2+4}} dx$$

$$= \int (2\sin\theta - 1) d\theta$$

= ...

$$\int \frac{x dx}{\sqrt{4 - (x+1)^2}}$$

$$x+1 = 2\sin\theta \quad dx = 2\cos\theta d\theta$$

$$\int \frac{(2\sin\theta - 1) 2\cos\theta}{2\cos\theta} d\theta$$

$$\int \frac{\sqrt{3 - 2x - x^2}}{\sqrt{4 - (x+1)^2}} =$$

$$\int \frac{\sqrt{4 - 1 - 2x - x^2}}{\sqrt{4 - (x+1)^2}} =$$

$$\int \frac{x dx}{\sqrt{3 - 2x - x^2}} =$$

$$\int \frac{x dx}{\sqrt{4 - (x+1)^2}}$$

de